618£991000V : ‘ON Buimeig
VN 229 12'20 YNV.L 3SVE A3 : MalA papojdx3]

(N3nL3y)
NMOG INIOd
1SN

(A1ddns)
dn LNIOd
1SN
MOYYY

CRII(0 .

ZJo | abeyd

11 38nL do¥a
TYNOILLdO

(MNVL ¥3LNO)
LN3A AONIONINI
IYNOLLJO

€C/81/6 - 91eQ
-9505200-NO : uoisirsy

_ 1
- |
7
- |
7
|
|
R
|
_ |4
JNVYHS
asva W\
o
I
SN

(INVL ANVIINA)
LN3A AONIONIWI
IYNOILAO




EXPLODED VIEW: EV BASE TANK D2.2L G22 NA

DRAWING#: A0001663819

GROUP E

ITEM PART# QTY. DESCRIPTION
1 A0001680911 1 ST03 WELDMENT TANK D2.2L 50 GAL
A0001663860 1 ST03 WELDMENT TANK D2.2L 100 GAL
A0003081521 1 ST03 WELDMENT TANK D2.2L 50 GAL
A0003081515 1 ST03 WELDMENT TANK D2.2L 100 GAL
2 (1) 028619A 2 PLUG PIPE 3" SQ HD ZINC
(2) 072989 2 VENT CAP EMERG 3'NPT
)3 A0001442744 1 KIT 2" DROP TUBE 50 GAL
A0001442742 1 KIT 2" DROP TUBE 100 GAL
(3)4 6021178 1 VENT OEM 2"
(3)5 0A7238 1 NIPPLE PIPE 2NPT X 3.5 BL IRON
6 (6026925 1 PLUG STD PIPE 3/8 STEEL SQ HD
7 6070327 2 VALVE,CHECK 3/8" NPT
(3)8 0A1492 1 CAP FUEL KELCH# 200314
(3)9 0D2670 1 FUEL FILL NECK,210MM LONG
10 A0001718415 1 FUEL DIP PIPE 237 MM (50 GAL)
0K2774C 1 FUEL DIP PIPE 557MM (100 GAL)
11 0K3828 1 SENDER FUEL LEVEL GAUGE (50 GAL)
0K38288B 1 SENDER FUEL LEVEL GAUGE (100 GAL)
12 (5022097 4 WASHER LOCK Mé-1/4
13 A0001685637 1 ST03 COVER STUB-UP D2.2L 50 GAL
A0001699657 1 ST03 COVER STUB-UP D2.2L 100 GAL
14 6050190 4 WASHER FLAT .3441D X 1.00D STEEL
15 (6039253 4 SCREW HHC M8-1.25 X 12 C8.8
16 10000031362 1 LEAK DETECTOR FL APRVED W/CONN 1/2"
17 (6025655 1 PLUG STD PIPE 3/4 STEEL SQ HD
18 0A8278 4 SCREW SHC 1/4-28 X 3/4 G8.8 NZ
19 6051548 8 NUT HEX M12-1.75 G8 SS
20 (6083215 8 WASHER LOCK SPRING 1/2 SS
21 G087171 16 WASHER FLAT 1/2 SS
22 0C6789 8 SCREW HHC M12-1.75 X 30 SS FT

NOTES (UNLESS OTHERWISE SPECIFIED):

)

) ITEMS ARE INCLUDED IN KIT P/N 0D3029.
) ITEMS ARE OPTIONAL COMPONENTS.
)

(1
(2
@
(4
(5) APPLY SEALANT TO ALL PIPE THREADS.

REVISION: CN-0075056-J
DATE: 9/18/2023

) ITEMS ARE STANDARD COMPONENTS AND INCLUDED IN KIT P/N OE1622.
ITEMS ARE OPTIONAL COMPONENTS AND INCLUDED IN KIT P/N 0E1582.

Page 2 of 2



	A0001663819
	A0001663819-J

